Q1: see text for definitions, significance.
This question was pretty well done. The main shortcomings were:

1) not giving a definition (e.g., "the dielectric function leads to the index of refraction", which is an OK siginificance but not a
definition of the dielectric function). Those affected, try to start a sentence: "The dielectric function 1S..."

2) not including a significance -- why this is important in optics, what important thing does it lead to, what historical problem did
it solve, etc.

Note that Kramers-Kronig relates functions, in our case functions for the real and imaginary index of refraction vs. wavelength
or frequency. It is not correct to say that it ties a particular index to a particular absorption.

| think the average mark for this question could go up by 20% on the final, if folks pay careful attention. Long answers are not
needed, but precise answers are.
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